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N'P A7 N9N3 83D

7"01
Intro

Today we will 7"pa learn X 97 of X112 X212 NHOH
Some of the topics we will learn about include.

The source to the Mishnah’s next Halachah

DR IR SMI WRM

A son inherits the assets of his mother, if her husband is
no longer alive.

The Machlokes regarding

naSomp i

DR71°0211

Whether in a mother’s assets, a son comes before a
daughter, or they both inherit equally?

The concept of

PIIRIS T

ias=Raikap)

The derivative of the 2m 5p cannot be more o than
the source of the mm 5p.

DIWw 9 YO IR M2

DR71°0211

A firstborn son does not receive a double portion in his
mother’s assets, only in his father’s assets.

The source to the Mishnah’s next Halachah

INWR IR SMI WRM

A husband inherits the assets of his deceased wife, even if
she has sons.

However

7503 IR TR R

A wife does not inherit the assets of her deceased
husband.

POV POOM PYIM

There are certain cases when deriving Halachos from
Pesukim, that we move a letter from one word to another
word, to create a new meaning.

And the Machlokes X271 »ax whether an entire word can
be moved to create a new meaning;

DafHachaim.org

MR DX 9NN WIRM

na% oNp )2
ONN Y0112

NPT MO

02 2D V111X D2
OXN Y0012

MK NXR DM WIRM
NYY2 NXR NWRN XD

PONTI PDIDINY PYNI

BavaBasra 111-1



NP AT NIN3 K22

So let'sreview ...

The Gemara proceeds with the sources of the Mishnah’s
next Halachah

MR IR S VR

A son inherits the assets of his deceased mother, if her
husband is no longer alive, because the Pasuk states
ORI 232 MOMH 75N DWW N1 57

The pluralized word muvnn» implies that a daughter can
inherit the assets of TWO different ovaw?

Now, this can only be possible in a case where

TAR LIVN PIRY

MR VYD AN

NP

Her father and mother were from different ovaw, and
after they died their daughter inherits both their assets.

NARORY PRI

P

This Pasuk is only a source for a daughter.

However, a son also inherits his mother’s assets through a
WM Op:

AN 0212 NI VWY N2

DR 0212770 19

If a daughter, whose right to inherit her father’s assets is
weak, because if there is a son she does not inherit,
nevertheless she does inherit her mother’s assets;
ANIOIIND 19V 12

DR °0211 M 19°W PTIPR

Certainly, a son, whose right to inherit his father’s assets is
strong also inherits his mother’s assets.

The x»p Nin adds

NRIW DI

na>omp P

N5 0Tp 12 IR R

Since bri1°o21 is derived from 2x;7 033, we must say that
justas in axn o2 if there is a son, a daughter does not
inherit her father’s assets, so too, in DX 021 if there is a
son, a daughter does not inherit her mother’s assets.
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MR NR YNNI WIRM

LA 23 iy S mivre ma b
The pluralized word mvwp implies

that a daughter can inherit the assets of 2 different pwaw?

This can only be possible in a case where
TNDN DIV MINY
NN DIV NHPN)
DY IND)

Her father and mother were from different pwaw,
and after they died their daughter inherits
both their assets.

120 12 - N2 ROHR Y PRY

N> NDW )2 5 NN DNNY N2 NN)
AONN 'DDJ2 ) ANNDDI2
Mo NDW PT 1N DN D222 NNhD NO?
DN D322 If adaughter,
Certainly, a son, whose right to inherit her
whose right to inherit father is weak, because if

his father’s assets is strong there is a son she does not
also inherits inherit, nevertheless inherits

his mother’s assets. her mother’s assets;

G
IRIQW DpPNOM

IR R 1905 nn
n%0MpP 1R << N OMP 12

So too, in bR D23 Too Just as in 28N D22
if thereis a son, if thereis a son,
a daughter does not a daughter does not
inherit her mother’s inherit her father’s
assets. assets,
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. 23pn 12791 20 disagrees and says
iateiny i
In oxp ’OD]J, a son and daughter are equal; and even if there nan TR ]nn TR
is a son, the daughter also inherits and they split the OXN Y0112 ]’1\’)
mother’s assets, because InbRn D2, a son and daughter are equal;
1730 NP P P RO 1T and even if there is a son, the daughter also inherits
12, the derivative of the Wm p, cannot be stronger than and they split the mother’s assets,

N3, the source of the w1 5p.

because

72D PPND PTN 0 RS T

While th hold Whe f@tﬁﬁtﬂﬁa%

1le the x»p Rin holds

0T KOV PT W7 RNHYY2
In general we do apply the concept of 7, but in this In general we do apply the concept of v,
particular case we do not apply 17, because of the wpn of but in this particular case we do not apply 1,
the word mumn: because of the wpn of the word mvpp:
DRI 70D WPD
27 01 2NN NVNY ORN NVN WIPN
135 DR 12 ARA 0P
N> DR 12 DRA 0P R R nn
The Torah compares ax1’©1 to DX;7 021 in that just as in OaNN NV %’; 2NN VD

. 2N °021 a son comes before a daughter, so too, in Ox 23 . S

n2% 0Mp )2 n2% oMp 12

a son comes before a daughter.

The Gemara continues; if so, one might argue based on the

PN

DIW *0 SV 7192 IR 70N N R f]N N R

D°3W *0 SV 7192 DRI 70N R xRN VD 2NN NVN

Just as in a7 '021 a firstborn son receives a double

portion, so too, in bR1°©31 a M2 should receive a double 02w » '7'01] T7MO2 DNV ID '7'01] 702
portion?

Just as in 28 1022 a firstborn son receives a double portion,

.. so too, in DRN D23 a N2 should receive a double portion?
However, this is not so, because the Pasuk states ' p

MDA vOWN 1L
The exclusive word 15 teaches

WR5 71719277 VOWH v

TWRY M27 VOWD RN

The Halachah of 7m>a applies only to a man'’s assets, but i R

does not apply to a woman'’s assets. Therefore, a 1131 does P e e o) 'bg‘w: 713

not receive 03w 0 in his mother’s assets.
eV WY
D0 231999 (G &)
The Halachah of 22 applies only to a man’s assets,
but does not apply to a woman'’s assets.

Therefore, a 152 does not receive pw »
in his mother’s assets.
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The Gemara explains that the source is NOT from the
Pasuk

1 R¥Y WK 52

15 R91H

Because

AIOR RWIW 10250 30

75103 RwIw M2 Sar

YRwT I

This Pasuk excludes only a 1152 who is a firstborn only of
his father but not of his mother; and he does not get 01w °o
in his mother’s assets, because he is not her 7122.

However, this does not exclude a 7191 who is a firstborn of
both his father and mother, and perhaps he does get 01w °5
in his mother’s assets.

And the source is also NOT from the Pasuk

MR YUK

AR KD IR

Because

15ma RWIW OR 5 730

75102 RWIW M2 Hax

DPWT M1

This excludes only a 1132 who is a firstborn only of his
mother but not of his father, and he does not get 0w 5 in
his mother’s assets, because he is not also the father’s 7152.
However, it does not exclude a 1102 who is a firstborn of
both his father and mother, and perhaps he would get '
D1w in his mother’s assets.

Therefore, we need the third Pasuk

771037 VOWN 1>

To teach

WRY M2 LOWD

RS M227 VOWD RN

The Halachah of m1>1 applies only to a man’s assets, but
does not apply to a woman'’s assets even if the son is the
7121 of both parents.

Dedicated By:

The Gemars explains that ?‘/mwwc&'wmz‘%mm. »
T N1 AR Do

3)/)4’/ //

N2 ban
Nhina Nwow
5pwT "N

However, this does not exclude
a2 who is a firstborn

of both his father and mother,

and perhaps he does get 2w 1»

in his mother’s assets.

02 5m 1
NINOHN NwIW

This Pasuk excludes
onlyamawhoisa
firstborn only of his father
but not of his mother;
and he does not get Daw 19
in his mother’s assets,
because he is not her y122.

And albo the source iy not %fom. B
"N N
el it

MN2 HaR
N9IN2 RWIY
2PWT M1 DN
However, it does not
exclude amm whoisa
firstborn of both his
father and mother,
and perhaps he would
get WD in his
mother’s assets.

"0 "N
PSR
N9IN2 RWIY

This excludes only a 12
who is a firstborn only of
his mother but not of his
father, and he does not
get Dw " in his mother’s
assets, because he is not
also the father’s 2.

Wr%am, we need the third Pasuk
== bain

O/ 991959 0O
20/ 99959 (O £

The Halachah of 22 applies only to a man’s assets,
but does not apply to a woman'’s assets
even if the son is the 232 of both parents.

DafHachaim.org
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The Gemara proceeds with the sources to the Mishnah’s
next Halachah:

IMWR IR S WRM

A husband inherits the assets of his deceased wife, even if
she has sons.

However

153 IR TR R

A wife does not inherit the assets of her deceased
husband, because the Pasuk states

MNOWHM PHR 2P 1IRWY 1N5NI IR DN

AR WM

IMWR T IIRY

INUR IR W Svanw m5n

The word 18w refers to a wife, and the Pasuk comes to
teach that a husband inherits his wife.

And the superfluous word nmx teaches

AR WIY NI

MR W R PR

Only a husband inherits his wife, but a wife does not
inherit her husband.

The Gemara asks

2N 07 IRY ORI RN

The Pasuk implies the opposite that a wife also inherits, as
it states

POR 2PN 1IRWY NSM NR onnn

The husband’s assets shall be given TO 1w, his wife; and
PR W

The wife's assets shall be given to her husband?

Dedicated By:
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IMYK NR M1 WIRM

NYY2 NR NWRN XM

A wife does not inherit the assets of her deceased husband,
because the Pasuk states

WS IR T
I Yo 1R NS
SR o
W Oy 473
WIEDD) 7D Vi

WY 15 1Y
DGt Oy fio>l st

OM?/ w hushand inkerity hiy w%@,

P
21103 1010 IRD 'NIP NN
oS I Y
I YR 1R NS
SN e
And the w%@'ymefy

shall é@;u/m 1o
her husband

The husband’s assety
Mé&;a/m to 1240,

hiy wife!
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The Gemara offers two approaches

1.

mansays the Pasuk must be divided into two segments:
First the Pasuk states

POR 1905 IN5M R DNNn

This segment does not refer to a husband or wife, but to
the next closest relative of the deceased.

And the word 18w is moved to the end of the Pasuk
JOIR U IIRY

The husbands inherits the assets of 198w, his wife, and the
word MR comes to exclude

TR WY RID

IR DV R PRI

2.

R17 disagrees and says that we cannot move a complete
word, 1IRWY, to another place in the Pasuk. However,
PONT OO PV

We can move a letter from one word to another word.
Therefore, the Pasuk is read as follows

19 19RW NSN3 N DN

The assets of 17X, his wife, are given to 15, her husband.
As the Rashbam explains

TIRWOD T'091 11501 171 I

R OOR 720 MUY

The letter VAV of the word 1n5n1 and the letter LAMED
of the word 19RwY are removed and combined to form a
new word 5.

This discussion continues in the next Daf,

Dedicated By:
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@

e

N iy ornd
el Yex 1R NS
SR P
And the word 1340 iy moved First the Pasuk states
fo the end f the Pasuk— YFToTS TIR DI
SN P Ny PN :"’?5
The husbands inherits This segment
the assets of NNw, his wife, does not refer to

and the word nmR a husband or wife
comes to exclude but to the next closest

7NIR PP RN relative of the deceased.
IR DI NN PN)

@

AR
We cannot move a complete word, nNw),
to another place in the Pasuk. However,

PONT PDIOIM PYM

We can move a letter from one word to another word.

R e mN o

Wre%&m, the Pasuks iy read a&/&%wy
T NRE e mIN Bmm

The assets of NN, his wife, are given to1b, her husband.

Ay the Rashbam Wm
IHEDH 7795 MMM YN VI
15 H PRH D3 IMEYS
The letter "Y' 0% the word wly
and the letter "> o% the word pet)
are removed and combined to %orm/a/ new word 1/
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